
Total number o-f printed pages_lS

4lSem_6/CaCsl HE 3 (AcA,

2o/23

COMMTRCE
( Honours Elective )

paper: COM_HE_6036

( Advanced. Coqtotzte Accoundng I
Fitll Marks : gO

Time : Three hours

Tlte fi.gttres tn the nargln lndlcate
tall narks lor the q"""fii;.--

Ansaer elther in English or in Assamese.

I . Answer the following as directed : I x l O= l O
fufl q-fiREe-{ ft,{;
(, The IASB was previously known as the

Indian Accounting Standard Committee.
(State whether the statement is true or false)
rASB_s td6E ERq_{ Rur'r< rna q66 pu6q{ f{b | (sa 6i wea Av)

Contd..



ftn State the meaning of corporate annual

rePort.

csf-'ttft< <|tr$ dGr<qi< qdfi?llt

/iiil The liquidator is entitled to receive his

remuneration after Payment of
expenses.

(Fill in the btank)

q<pTi:Trs mek "fiRqfr-s 

-- 

Tf{

{fr6rxq GK ftw "m | &rfr rF EE wr)

(iu) Creditors can propose voiuntary
liquidation of a company.

(ftate whether tle statenlent is true or fabe)

efis{tqFpFp[E ett c+gqqu &fu qtqtca<

erq?r qlrf{.6F{ ell6< | (sa 6{ qe6 fr41)

(u) What is bank overdraft ?

c{(s qR-s{n|trI ft ?

(ui) Income on non-performing assets is to
be recognised on 

- 

basis.
(Fill in tte btank)

wmd<fiq.{fuseRs 6qKqr_
Ces fi-fG ofi< qftrtr gffi tP q+cr @t)
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(uii) What is bonus to policyholders ?

ffiSqK€ <tiu qrq ft ?

/uiir/ Annuity is an income for the insurance
company.
(State whether the statemmt is true or false)

fur cotq6.{c{<rfffteR{qmr
1va a wea fiutg

/rx/ What is investment accounting ?

Rfuarr Rnq ltclft ,

(x) Prolit earned prior to incorporation
cannot be distributed as dividend.
(&.ate uhether tte statemmt is true or false)

Et{'-qfiVE crrv q&€ EIs ssitfi REIc<
fu{q $R{ 6{|TRt (sa fi qsa 6vl)

2. Answer the following questions: 2x5=l0
sqE fr'flI<l<< Ew R{n a

(a) Mention the major components of
financial reporting.

fi€a at"r<qi< qqT gaqfiTqE-mq <tr
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(b) What is Liquidator's Final Statement

of Account ?

q{{rTn uvts Rtr Rnq fr t

(c) What is Statutory Liquidity Ratio

(SLR)?

RR<h s{qsl q1ofls {tra ft ?

(d) ExPlain the term'Life Fund''

q-<a &'ffi4P1611

(e) Mention fuo objectives of preparing

lnvestment Account.

RRrstrt Rnq erw <n @tVrat Em< ct t

3. Answer the following questions : (ang four)
5x4=2O

Eqs fr{l(<|<< GK frql z (frrcttqt otffit)

(a) Write a note on INn AS.

rND AS-< ser<s,St ffo G"{t
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State the procedure of determining the
liquidator's remuneration on liquidation
of a company.

,aBt crl.,fift{ qfi|ttls q<riF-s< 
'fiRi{fro

fi{<q m< sqrft Vml <wtt

Briefly explain about .Rebate on Bills
Discounted' in the context of banking
companies.

Rft crffi< m-q-s?UtsE[q<tR-qq c{qR,<

fiTcr FSs <t{l €tl

Write a short note on re-insurance
claim.

"F{fu< qfft< s"Fs cbt u1 6rO frq r

(e) State the procedure of ascertainment
of pre-incorporation profit or loss.

q$-qfi-gg qll-{ qfs <l GlsbTd fifr wr
aflfi <fdt FII

(b)

(c)

(d)
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0 Mention the contents of Corporate

Annual Report.

6$|-[ft< <|tr$ d&r<rd< Rrr{FVF{ Ft I

4. Answer the following as directed : lox4=40

sqs fifl6$<< frc#{trqR< Eq fut:
(a) XY Ltd. went into liquidation with the

following liabilities :

xY Ltd. s-ss frfl 6q-dlcT{ cR6o qfi|{I
Strqc

(t) Secured creditors ? 4O,OOO

(Securities realised ? 40,000)

qtfrlp '1€fiFt 4O,OOO Fsl
(qfr{ c-lk.{ry{gl 4o,ooo }ol)

(ii) Unsecurcd creditors i 55,OOO

qfiiRfu {€drlFr ss,ooo hr

(iiil Amount due to workmen ? 10,000

qfr'€-@-$ frEqril ro,ooo tst

/iu/ Liquidation expenses ? 2,000

q'{ql{fi <1-{ 2.000 Esl
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(v) Liquidator's remuneration ? 4,000

w{Jlls<F< "[R!{Rs 4.000 tr$t

(vi) Preferential creditors 7 2T,OOO

qflfQsF1o 
"lteilqr< 27,ooo tr$t

The various assets (excluding securities
in the hands of secured creditors)
realised ? 25,000

R&fl Tq& (qfr{W 
'1s*qr<< €'Frs dfs

crstc?&<rqfr) R"6sR 2s,ooo Eoqrqra
c4Fl rth

Prepare Liquidator's Final Statement of
Account showing the amount paid to
the creditors. to
qfir{-€ 

EvtgREPR && ?q{n +R {qrc|K
qmR fifl FiFn qR:nq EG{ sR cc.{€<tl

Or/v4llztt

State the features of IFRS and also discuss
the needs for adopting IFRS. 5+5=10

IFRS-< f.iFEq{qETF"l Gil qFF rFRS<
gIilffiTElq{tqIFII'{I GIII
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(b) From the following information, prepare

the Profit and Loss Account of Royal Bank
Ltd. for the year ended on 31.03.2O22:

l0
s+{ lqm sqICTS'Rl Royal Bank Ltd.-{
3r Ti16,2022 stR{s qsWt <<6ts {f6< q?F{

EIg-6EFFEF{ Rut'f sW Fl e

Amount (l)

Establishment Expenses 50,000

q"R <l-{

Interest on Loan 3,00,000

<i6Ft €"Fts w
Rent and Taxes 15,400

qlwil qFF c{

Interest on Current Accounts 30,000

uFs Rnq< s'f{s {e

Rebate on Biils Discounted
on I-4-2O21 25,000

{bqs Rd< €erio c{*
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Amount (?)

Interest on Cash Credits 4,00'000

4{q'1|st €q<s {o
Interest on Fixed DePosit
Acoount

q|St qnl Rfl"r< s"r<s W

IntL'rest on Savings
Bank Account

ceBR Fis fut+< W

Commission and Brokerage

qe€i qI{. qlq]fi

3,00,000

70,000

20,000

Discount on Bills Discounted I'O0,O0O

Fe 4bt<s.F €eKs <ET

. Interest on Overdraft 70'000

qfffi s'Frs {o-

Director's Fees

qsf{€ {lud
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Amount (?)

Prolit on Sale of land 2,000

vn Fcn< s4<s EIs

Transfer to Central Government 5,OOO

c.da w+rtq EFts

Other Expenses
q;IIFIi <']I

OrlqW

50,o00

Explain the following terms'in the
context of banking company: 5+5=lO

6{€{ 6{rt-4lfi< efcvFr sEs fi$ qqc{q

<n{n <ril 3

0 Non-banking Assets

\$il-6<rc C-r{fu

(it) Statutory Reserves

frfi<h {G

From the lbllowing information prepare
Fire Revenue Account of Newstar Fire
Insurance Co. Ltd. for the year ended
on 3lst March, 2022:
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sqs ft'{l vct]-{{q< {<t Newstar Fire

Insurance Co' Ltd.-< 20226{< St rt6€

q,ss"l-{| <W&K <fr< qR <qq Rut't efw crl s

Amount (?)

Reserve for unexPired

risk on lst APril 2O2l 52,000

r-4-212r stft<s ryg qffis
FIIEKI qgF ffi
Additional reserve

on L-4-2O21 12'OOO

Claims paid 60'000

nR qRdfq

Management exPenses 25,000

<]<|{'FI <IR

Legal charges regarding claim 3'500

qA q",rff{ ffiats <13

Premium received 1 ,15,OOO

Iififfi c"F{ {q

r-4-202r s qGRF
qrF ft
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Amount (?)

Interest and dividend 6,500

W qK q-v-jlirf

Income tax on interest
and dividend 7OO

W qf+ dli\eilvFi €eFls \il?fcl

Reinsurance premium 7,500

"1r{Alt< Rfi$n
. Profit on sale of investments 1,200

RRratE fr.-ff< e+<s as
Reinsurance recoveries 2,OOO

"I{{aTl< bh-R

Outstanding claims : (qdcg nfl)
on 3l-03-2O22 9,OOO

on 31-O3-2021 6,500

Commission on direct
business IS,SOO

ersiF <j<clT-{ qqfr

Commission on re-insurance
accepted 2,500

"F-{anF reR'iRfits
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Cornmission
ceded

Amount (?)

on re-insurance
3,500

"FKa{R reR flR

The company calculates its reserves for

unexpired risks at 50% of the net
premium each Year and maintains
additional reserves at lOo/o of net
premium annuallY.

sG <E{ @Iqfr&r< nn qfuifu 6{t(st cvlg
ffi s{s effi{ seFls 5o7o q+q&Fs wFI

ft<rr< 10% tt{snl
Orlq*I

Discuss the books of accounts to be

maintained by Insurance Companies'

q$ csl-qfic{tEslfu<-dff{I Rflq €q{<
fr'sa qfotml G] t

(d) SK Ltd. was incorporated on 30th

September, 2O2O to take over the

business of. XYZ Ltd. as from lst April,

20llo. The financial accounts of the

business for the Year ended on 31st

March. 2021 disclosed the following:
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2020 FFr 30 C6'[gS<s SK Ltd. qfi-Wte
. I qftq 2o2o qR4< 

"|T| edffi c+<Eo xyz
Ltd.< {r{qF qRe|etsRdq gt $6 zozrs
<j<TFdF Rnq <fu eRI u4q sagc{q c'fi<l

?rb:
Amount(?) Amount (.)

Revenue from Operations :

lst April to 30th September,2O2O 1,20,000
1st October to 3lst lvlarch, 2021 1.80.000
Less : (<1q)

Purchases : (4{)
lst April to 30th September 2O2O 75,000
lst October to 31st March 2021 f.20.000
Gross Profit : (T, q|s)

kss : (<lc)

Salaries ( maq;

Selling expenses (ft-6 oa)
Depreciation (q<s'{)

Director's remuneration (Csl'tr€ a6?gFs)

Debenture interest (lctetg-{ W)
Rent and Rates (qEal q'R q<)

Profit for the year (<E{6R d1s)

15,000

3,000

1,500

750

nol

4.sool

3,00,O00

1.9s.000

I,05,000

24.840

80,160
Prepare a statement showing the profit
made before and after incorBoration. lO
qffEs cnr< qttF{ qFF Ftq qis< qfufq
cnFR e?F F(& erw err
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Or/qq41

On lst Aprll, 2022, X Ltd. had
Rs. 3,00,000, l2o/o Government Stock

at Rs. 94 (Face value Rs. 100). Interest

is payable half yearly on 31st March

and 3oth September. The company sold

Rs. 60.00O of the stock at Rs. 95 ex-

interest on lst July, 2022.

1 ,{{aE, 2022 s x Ltd.-{ 3,oo,ooo bsR

12% rf6F-t Bo s+ bat A<s 169" *
1oo trsl) rW qtk r lTfq Tas 3 1 116 q$
30 cblgsrv {\e- alqr qtfur comftdrr<
2022 ffi< l EEfu 60,000 tr$l< Bs sfutbR

9s hr q<s {s <Ws Rnqs ffi or<t

Prepare 127o Government Stock
Account in the books of the comPanY

for the year ended on 3lst Match, 2023.

Ignore income tax and brokerage.

6sf.,ftfi< <fu zozs E;F{ 31 {t6s wnt
<Ndrs {r< 12o7o rffi Bre Rnq aw <xt t

qlTcr qtir. nqlR {t{sR {actt t
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